
idle wait

waitcritical

req1:=true

turn:=2

turn=1?

req2=false?

req1:=false

••

• a

b

c

2

2

3

L [FV → F ]

(P(R)V → 2M×P(R))(P(R)V → 2M ) (P(R)V → F )

[[−]]

XF

χ
XM

tRe

initial final





2 1 0
−1 0 1
0 −1 2





curved

straight

far

loopCW loopCCW

qbpedge

b/01

a/01b/10

b/01b/01

1



straight

positive curve depth

negative curve depth

180 0

qbedge

bcedge
210

90

bpedge

30 70

smaller
larger

1 rectangle oval

Nadjust=n Nadjust=w Nadjust=wh

imark fmark rmark all

framed filled both RedViolet

Thick Gray Dash More dash

3

2

11211

10

9

8

7 6 5

4

3

2
11211

10

9

8
7 6 5

4

2



A
B

B

B

C
D

a c

d

x y

z

3



a

ba

b

1 2 3

4
5

6

A, a, α

A, ε

B, b, β

B, ε

D, d, δ D, ε

F, f, ϕ G, g, γε

E, εF, ε

C, c, γ C, ε

G1, g1, γ1

a b c d e
7 -11 13 2

3 8

-5
17

4



5


